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® Please check that this question paper contains 8 printed pages + 2 Maps.

Code pumber given on the right hand side of the question paper should be written on Lhe
title page of the answer-book by the candidate.

® Please check that this question paper contains 26 questions,

* Please write down the serial number of the question before aitempting it.
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Gieneral Instructions :

(i)  There are 26 questions in all.

(i) All questions are compulsory.

{ifii) - Marks of each guestion are indicated against ii.

fiv)  Questions number 1 to 10 are very short answer questions earrying 1 mark vach,
Answer o each of these questions should not exceed 20 wards.

fv)  Questions number 11 to 20 are short onswer questions carrving 3 marks each.
Answer to each of these questions should not exceed 80 words.

(Vi) Questions number 21 to 25 are long answer guestions carrying § marks each, Answer
to each of these questions should not exceed 150 words.

(vii) Question number 26 is related lo identification or locating and labelling of
geagraphical features on maps,

(vitt) Outline maps of the World and India provided to you must be attached within your
_answer hook.

(ix) Use of templates or stencils for drawing cutline maps is allowed.
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1. Why is the number of pastoral nomadics decreasing in the world ? Explain the main
reagon for it |
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2. Which are the two types of intensive gubsistence agriculture ? 2%~ =)

A fale S F A @R FAE ¥ 2

4. Which is the most important riverine inland waterway of Russia 7 1

w0 & waifE v wdw SR SeE A 2?7

4. Which type of rural scttlement patiern develops along a road, railway line, river, canal,
cle, ! . 1
e, @ @A, 99, T sife % Feari w awqor afeEi w) e sl faste
a8 ?

5. Name the first million city of the world, 1
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6. Give any two examples of ancient towns of India. 2x
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7. Name any two fossil fuels. D= =1
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8. Name the Indian railway zone having the highest earnings from passengors, 1

mﬁﬁﬂmﬁﬁmmmmﬁa@wmﬁﬂwml

9. Name the cities located at both the terminais of National Waterway No. 1 of India. |
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10. Define the term ‘noise pollution’, |
i
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11. Name the three approaches introduced in 19705 in human geography. State the main
feature of cach approach.
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12, Distinguish between small gcale industry and large scale mdustry of the warld, by
slating three points of distinetion of each. | ;'. +1 L =3

2
ma%tﬁiiﬁmﬁﬁaﬁnaﬂra&ﬂnﬁ%aﬂnﬂﬁmﬂhmw|
13. Study the map given below and answer the questions that follow : d=1=3
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(13.1} Name the shipping canal shown in the map;

(13.2) What do the railway-lines and fresh water canal indicate about the relief of the
region shown in the map ?

(13.3)  How did relief help in reducing the cost of construction of this shipping canal 7
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Note :  The following question is for the Blind Candidates only in liex of Q. Ne. 13.

qiz : WWWWM'%MWMH%WW#I

What are the three major types of inland waterways of the world 7 State three factors

on which the development of inland waterways depentls.
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14,
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15,

16,

17,

18,

L.

20,

21,

22,

Which is the longest tramscontinental railway in the world 7 Write any four
characteristics of this transcontinental railway line. 142=3

fovs o gol o OEETTE el s @ 7 39 unmeEdm e 8 #E e
fergramd. = |

Which are the two types of ports based on location 7 Write any two features of cach typo

of port, f2=t

sl & SER W oW ¥ A YR S R 2 T R ¥ W @ e o
feemant fafau |
Explain any three problems of urban settlements of developing countries of the world, 3x1=3

m%mﬁmﬁwmaﬁwmmﬁ#wmn

Explain three basic differences between rural and urban settlements of India, Ixl=3

T At AT st Ay Attt # A Ry s we S |

Explain any three features of common property resources in India, dx 1=l
o e Wl EE # e G e s e i |

Why is conservation and management of water resources essential in India T Explain any
three reasons. 8x1=43
W H S HEA EOEww SR R R e & 7 e de s g ww
Hiferm

State any gix problems related to slums in the metropolitan eities of India, fix ; =4
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Whith are the two sets of factors that influence migration in the world ? Explain both
the sets of faclors with suitable examples. 1+2+2=5
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What is the importance of tourism 7 Explain with examples the four factors of tourist
attractions in the world. 1+4=F
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23. Study the data given below in the table and answer the gquestions that follow 342=b
Religious Communities of India, 2001
2001
Religious Groups | pypylation | % of Total
{in million}

Hindus B27-6 805

Muglims 138-2 13:5

Christians 24:1 2.3

Sikhs 19:2 1-9

Buddhists 80 08

Jaing 4-2 0-4

Others 66 06

(23.1) Which religious community occupies the second place in the total population of

India ? Name a State and a Union Territory, where the people of this community
are in mujority.

(99.2)  Which is the smallest religious community in India ? Name the three states where
this community i8 mainly concentrated.
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g 80 09
EE| 42 0-4
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Note :  The following question is for the Rlind Candidates only in lieu of & Ng. 23,
N5 Fiz ﬁmﬁa@ﬁma}aﬁg@ﬁqﬂﬂmﬁn}'%mm#@rﬁ%mwﬁs

Name the five religious minority groups in India. Mention any one state where each of
these religious Eroups is mainly eoncentrated. 2:-:- 44 ':t
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24. Name five sources of non-conventional energy in India and also state one potential aren

of each source of non-conventional energy. 2.'1 +21 25
umﬁwm%mm#mmmm%mwmﬁiﬁ
Al g |

25. "India’s international trade has undergone a sea-change in recent years.," Give five

arguments in support of this statement. bxl=6
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¥ ue ad s |

26. (26.1) In the given political outline map of the World (on page 9), four featurcs are
shown as A, B, C and D, Identify them with the ‘help of the map legend and write
their correct names on the lines marked on the map, i i =9

(26.2) On the given political outline map of India (on page 11) provided to you, locate
and label the following with appropriate symbols : B l=d

(1)  The state having the lowest growth rate of population
(1} The northernmost international airport
(iii) The software technology park of Madhya Pradesh
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Nofe :
qie :

(26.1)
126.2)
[26.3)
(26.4)
(26.5)

(26.1)
(26.2)
(26.9)
(26.4)
(26.5)
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The following question is for the Blind Candidaites only in liew of Q. No. 26.
ﬁnﬁﬁﬁﬁm%ﬁﬁqﬁﬁ#mﬁwﬁﬁ%mm#ﬂﬂsimwﬁf
Name the major sea-port located on the eastern coast of South Africa.
Nume the international airport of Germany.
Name the Indian state which has the lowest growth rate of population.
Which is the software technology park located in Madhya Pradesh 7

Nime the northernmost international airport of India. fxl=h
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For question no. 26.1

WORLD - Political
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For question no, 26.2

Outline Map of India (Political)
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